
 

 

 

 

 

 

 

𝐷𝑃 =
𝐶

𝑓
∑

1

(1 +
𝑦

100 ∗ 𝑓
)
𝑖−1+𝜏

𝑁

𝑡=1

+
100

(1 +
𝑦

100 ∗ 𝑓
)
𝑁−1+𝜏
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𝜏 =
𝐷𝑆𝑁

𝐷𝐶𝐶
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fdn4wpQn4p t4wt4wuluwttwt4ru | unqtt dinqwpQrlwtt tlbp2ttwQwtt u'lwldwttttbpnuI>

ttbpwnQtut rpbqbQntplnLttttbpfi hutlwp: funqwpQnqp huQwuqltwgbnul f, np unLltt

fiwuqtwpypnul ttbpwnQwt rltbrlbQnLplnitttbpp hwtlwu4wqwufuwfunul bt) wltr

qb4bQnrylnLbttbplttt (ttbpQwlwgtlwb ptt4hwhnry [bpn4wpwttnLplwttp), npnbp ttbpwrulwt

bb hpwqpqltb wq4wqpnul, 4pw lpwgnulttbpnnl, fitt2t4bu ttwL 62qpfiqt btt (wlttpwbn{

npputbnt! hqqbfi btt), u npltt tltwut4 pwg 5fi pnqttllbl Qwrl fub7wp1nLptlb1:

UnLpbU Lllp ur n LtIl u.rtr

Stropbtt!bpf funphp4f
utr4urLI,

$frLurtruur LluL utttoPbtt

(ubnrt, uqqutrnft)

?tuL{f p nLrquplutt

Ctr4hutrnLp dnrln{ft

LIfru.rll duultu![tg,
Slopb!!bp[t

[unphp4f UufuLuquh,

(urtrnr!, uqqutnrt)

[JunpuqpnrplnLtrLbpp hur{uumnLd bd'

rlu:r.lltp rluquplult

9fuu{np tnlopbtt

Ctr4hu:UnLp dnqnL{ft

tftr utlu !fg,
funphp4f ttufuuquh,

9fuu{np Lntropbtr-

^ t f a
De .DL . l1
-G,trtpl'0

(urhnL!, urqqurhnih) (rqur2unt)
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